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Question 1:

Factorise fully f(x) = x® —57x + 56.

A%~ 71 Silver Outcome 2

Question 2:

The equation of the cubic shown is of the
form y = k(x + a)(x + b)(x + c).

(3,12)

y = k(x +a)(x + b)(x + c)
What is the equation of this cubic?

/%~ 81 Gold Outcome 3

Question 3:

Find the coordinates of the stationary
points of the curve with equation

y = x3 + 9x? + 24x — 3 and determine
their nature.

Lt

'~ 6'5 Bronze Outcome 1

s

5~ 65 Silver Outcome 2

Question 4: A%~ 9-2 Bronze Outcome 1
Evaluate
4
f 2x dx
1
Question 5: /2~ 64 Gold Outcome 3

The graph of y = f(x) is shown below.

4

12 x

(6.-5)

Sketch the graph of y = f'(x).
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Question 1:

shown in the diagram.

diagonal BD.

ACis v+ 3y=23.

of the diagonals.

(c)

A quadrilateral has vertices A(-1, 8),

B(7, 12), C(8, 5) and D(2, -3) as

(a) Find the equation of A
2

(h) The equation of diagonal

Find the coordinates of E, (8]
the point of intersection

(i) Find the equation of the perpendicular bisector of AB.

(i) Show that this line passes through E.

¥
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5

Question 2:

kx'+ kx + 6 =0,

Find the value of & such that the equation

k # 0, has equal roots. 3

Question 3:

. 45 -1 ,
Find | —=—dx, x#0. 4
X
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